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^ãj×jÒ<íÞ]çŞ‰ù<íéÒ†£]<íÎ^ŞÖ]<gŠu_20 m kg=<^ãÂ^Ã�<æ40 R cm=<<°jÖ^£]<àÚ<ØÒ<»V< <

1D <íÂ†Še<íu]‡c<»<íÞ]çŞ‰ù]120 .v m s −=< 

2D u<á]…æ�<»<íÞ]çŞ‰ù]ëæ^Ši<íèæ]‡<íÂ†Še<ke^nÖ]<^â…ç¦<Ùç150 .rad sω −=<J 
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<^ãj×jÒ<íè†Ò<¼ÏŠi15,0 m g= íŞÏÞ<àÚ<íéñ‚e<íÂ†‰<áæ‚eO<Å^Ëi…]<î×Â<ÄÏi18,0 h m=<š…ù]<xŞ‰<àÚJ< <
ð]ç�]<íÚæ^ÏÚ<ØÛãiJ<< <

<<ÛéÎ<gŠu_^ãjÂ†‰<íÛéÎ<Üm<š…ù]<xŞ‰<^�ç‘æ<‚ßÂ<íè†Ó×Ö<íéÒ†£]<íÎ^ŞÖ]<íJ< <
< <
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<íèæ]ˆÖ^e<Øñ^Ú<æ<çjŠÚ<xŞ‰<î×Â<Híéñ‚e<íÂ†‰<áæ‚e<Hg×‘<ÜŠq<ÐÖˆßèα<êÏÊù]<ïçjŠÛ×Ö<ífŠßÖ^e<J<íÊ^Š¹]<ÄŞÏè<á_<‚Ãe10 d m=<
<äjÂ†‰<xf’i18,0 .v m s −=<<Jl^Ò^Óju÷]<Äé¶<ØÛãiJ<< <

íèæ]ˆÖ]<íÛéÎ<gŠu_<<αJ< <
< <
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Õ†vj¹( )S<äj×jÒ31,5.10  m kg=ëæ^Ši<íÂ†Še<íÛ¿jßÚ<íéÛéÏjŠÚ<íu]‡c<íÒ†u<130 .v km h −=<J<í¿v×Ö]<‚ßÂ0t =<<ÐfŞi

<î×Â( )S<ìçÎ<F
��

<ëæ^Ši<íje^m<^ãi…‚Î<íÒ†£]<îvßÚ<æ<å^Ÿ]<»66 kW=P<J< <
1I íÂ†‰<íÛéÎ<gŠu_( )Sí¿v×Ö]<‚ßÂ<10 t s=J 

2I ìçÏÖ]<ì‚�<sjßj‰]F
��

í¿v×Ö]<å„â<‚ßÂ<J 
< <
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äj×jÒ<�ˆjÚ<Ùˆßè70 m kg=<]…‚vßÚ<<<ä×éÚ15%H<<íéñ‚e<íÂ†Še15 .Av m s −=<JíÊ^Š¹]<ÄŞÎ<á_<‚Ãe50 AB m=<<<<äjÂ†‰<l…^‘<< <
110 .Bv m s −=<Jíje^m<�ˆj¹]<î×Â<Œ^ÛjÖ]<xŞ‰<�m`je<íŞfi†¹]<ìçÏÖ]<á_<š�ËèJ< <
1I …^Š¹]<î×Â<ìçÏÖ]<å„â<ØÇ�<�‚uABJ 
2I ^ãi‚�<gŠu_J< <

< <
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è<Õ†vjg×‘<ÜŠq( )S<<äj×jÒ<200 m g=çÓji<æ<ê‰_…<ïçjŠ¹<êÛjßi<íÓ‰<î×Â<àè_ˆq<àÚ<áV< <

I ë†ñ]�<ðˆqAB<åˆÒ†Ú<O<äÂ^Ã�<æ<60 r cm=oéa<<� 60AOB θ= = °<H< <
I ÜéÏjŠÚ<ðˆqBCJ 

èÐ×Şß( )SíŞÏßÖ]<àÚ<A<íéñ‚e<íÂ†‰<áæ‚eJ< <
1I …^Š¹]<î×Â<í×ÛãÚ<l^Ò^Óju÷]<…^fjÂ^eABíÂ†‰<íÛéÎ<gŠu_<H( )S<»<íŞÏßÖ]BJ 
2I <ÄŞÏè( )SíÊ^Š¹]<80 BC cm=ÌÎçjè<Üm<<<J<ì‚�<gŠu_íje^m<^â…^fjÂ^e<Õ^Óju÷]<ìçÎJ 

< <
< <
< <
< <
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^ãj×jÒ<íè†Ò<Ð×Ãi50 m g=äÖç�<æ<í×ÛãÚ<äj×jÒ<¼é}<Í†Şe<30 l cm=J< <
<íÂçÛ�]<…]‚iE¼é}Gíè†Ò<Díèæ]ˆÖ^e40θ = °íéñ‚e<íÂ†‰<áæ‚e<…† <Üm<JÕ^Óju÷]<ïçÎ<ØÛãiJ< <

I íÂ†‰<�‚u^ãÞ‡]çi<Ä•ç²<^â…æ†Ú<‚ßÂ<íè†ÓÖ]<J< <
< <
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i<…æ‚íÞ]çŞ‰_â…ç¦<Ùçu<^( )∆<ëæ^Ši<íÂ†Še145 .mintr −Â<H<ÌÎçji<HíÞ]çŞ‰ù]<†è‚è<ë„Ö]<Õ†�]<ÌÎçè<^Ú‚ß

å„â�}ù]<ì<‚Ãe<i<á_<ˆrß120ì…æ�<Jëæ^Šè<íÞ]çŞ‰úÖ<…ç’ÏÖ]<ÝˆÂ<2 23.10 .J kg m−
∆ =J< <

1I ^je^m<å…^fjÂ^e<Õ^Óju÷]<íqæ�ˆÚ<ÝˆÂ<íÛéÎ<�‚uJ 

2I íje^m<íÂ†Še<íÞ]çŞ‰ù]<…æ‚jÊ<H‚è‚q<àÚ<Õ†�]<ØÇ�è145 .mintr −<Jäi…‚Î<æ<íÏéÎ�<Ùø}<Õ†�]<ØÇ�<gŠu_J< <
< <
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ÜŠq<ÄÊ†Ög×‘<( )Säj×jÒ<100 m kg=Šè<HäfÞ^q<ØÓ�Ö]<»<ØnÛ¹]<géÒ�Ö]<ØÛÃjJ<< <
êÏÊ_<…ç¦<Ùçu<á]…æ‚×Ö<í×e^Î<æ<íŠÞ^rjÚ<ì†ÓfÖ]( )∆^âˆÒ†Ú<àÚ<…^Ú<^ãÂ^Ã�<H10 R cm=<ÝˆÂ<æ<

…çvÛ×Ö<ífŠßÖ^e<^â…ç’Î( )∆çâ<3 25.10 .J kg m−
∆ =<J<<<<<<<<<<<<<<<<< <

ìçÎ<Øf£]<Í†�<»<ÐfŞèF
��

<<êÏÊ_<^ãâ^Ÿ]ÜŠ¢]<Ð×ŞßéÊ<Híje^m<^ãi‚�<æ( )S<<Ø’éÖ<íéñ‚e<íÂ†‰<áæ‚e<

<äÂ^Ëi…]5 h m=äjÂ†‰<æ<<14 .v m s −=<J< <
1I Š¢]<î×Â<íéÒ†£]<íÎ^ŞÖ]<íßâ�Ú<ÐéfŞjeÜ( )Sî×Â<Øf£]<^ãÏfŞè<�Ö]<ìçÏÖ]<ì‚�<‚qæ_( )SJ 

2I ìçÏÖ]<ì‚�<‚qæ_<ì†ÓfÖ]<î×Â<íéÒ†£]<íÎ^ŞÖ]<íßâ�Ú<ÐéfŞjeF
��

J< <
< <
< <
< <

< <

< <
< << <

( )∆  

( )S  




